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BEIEER L= 335m
I pr Ha1E 2 m2
FhA R 6.0 m
EsRYa> 91— 3 m2
15 MEEIRIV S —+ 45 m
25 MEEIBaVY)— 3.7 m
153RYaV o) —+ 7.6 m
28E|YaH)—b+ 5.3 m B/ MERR
Bgaro)—k 8.8 m L= -
# #
% o M E B bici =z
& Fotk <tk -
T A B 5 m3
AR 1 m3
Bt Rt 2 m3
AR 1 m3
EEER B+ Ep 1 m2
E T EE R 7 m3
EHLET 7 m3
EEEET EaiE 2 m2
HEEEEE T BRAE B 2 m3
HER Rt 0.3 m3
oY) —hiERE H=1.10m 6.0 m
ERYao)—k t=20cm 3 m2
1S #EEIBaS)—k |H=0.30m 45 m
2EMERIBT S —F |H=0.60m 3.7 m 1.5+2.2=3.7m
155kYa>9)—k t=10cm 7.6 m
25EYa Y —k t=10cm 5.3 m
28/ OkET 1 &3
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E oAk~
3E/hOiET 1 BT
R T FR1E AA 2 m3
Bigar o) —k 8.8 m
HWEEIHT UEIYa—L, B200-H200 3.0 m
EEYMEUEL T ar 49—k t=25cm 10.6 m
avH)—rEEYEUEL |8KER 0.3 m3
g 2 m3
SEEE
FRIE {40 18 o) —hk 0.3 m3  [0.3x250=0.8t
SEEE
|Hav o) —b 2 m3  [2.0X2.35=4.7t
SEEE
FRIE {40 18 BISRFVY 0.1 m3 |17 %0.002=0.03t
R T R T AEB+DS 17 ®
REEKE ¢ 700 35.0 m
R ERE B
Bk iR 237.0 m
711 m2
126716 kg
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HEIEER L= 205m
T = 1570995 21 m2
2570991 11 m2 B/ NER
33 45 m L= - m
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& F oAk~
T A 23 m3
Bt 17 m3
EEER Bt 25 m2 4.1+20.8=24.9m?2
EEELT BT T EER 13 m3
BrAET 13 m3
JayHET 73 19 m3
BR 9 m3
wmEInyy 1:04 7L
== D Bt12LR 21 m2
e 1:04 Ea7%0L
28J0voiE Bt12LR 11 m2
EAERE RC-40 14 m3 9.5+4.7=14.2m3
Xigaro)—k 14.5 m 9.0+5.5=14.5m
Pkt 3 14.5 m 9.0+5.5=14.5m
FYDI+T 5 m2 2.8+2.6=5.4m2
FYDIHT BEELDS 2 m2
AKiE
KEREIHT BEBEE 300 x 300 13.0 m 10.0+2.0+1.0=13.0m
fREET R R E R B=3.50m, 28k ik 26.0 m
78 m?2
14436 ke
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